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Note:	 The question paper is divided into three sections A, B and C. Write 
answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Examinees have to attempt all questions. Each question is of 02 
marks and maximum word limit may be 30 words.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 narjm{W©¶m| H$mo g^r àýmo H$mo hb H$aZm h¢& àË¶oH$ àý Ho$ 02 A§H$ h¡ 
Am¡a A{YH$V‘ eãX gr‘m 30 eãX h¢&
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1)	 Give answer of the following questions.
	 (i)	 What is the meaning of statistics?
		  gm§p»¶H$s H$m ³¶m AW© h¡?

	 (ii)	 What do you mean by primary data?
		  àmW{‘H$ g‘§H$ go Amn ³¶m g‘PVo h¡?

	 (iii)	 Draw a diagram of symmetrical distribution.
		  g‘{‘V ~§Q>Z H$m {MÌ ~Zm¶|&

	 (iv)	 What do you mean by standard deviation?
		  Amn à‘mn {dMbZ go ³¶m g‘PVo h¡?

	 (v)	 Write the formula of combined arithmetic mean.
		  gm‘y{hH$ g‘mÝVa ‘mÜ¶ H$m gyÌ {b{IE&

	 (vi)	 Define Dispersion.
		  An{H$aU H$mo n[a^m{fV H$s{OE&

	 (vii)	Define Correlation.
		  ghg§~§Y H$mo n[a^m{fV H$s{OE&

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Section 'B' contains eight short answer type questions. 
Examinees will have to answer any 04 questions. Each question 
is of 07 marks. Examinees have to delimit each answer in 
maximum 200 words.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 IÊS> "~r' ‘| AmR> bKw CÎma àH$ma Ho$ àý h¢, narjm{W©¶m| H$mo {H$Ýht 
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^r 04 gdmbm| Ho$ Odm~ XoZm h¢& àË¶oH$ àý 07 A§H$m| H$m h¡& 
narjm{W©¶m| H$mo A{YH$V‘ 200 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V H$aZo 
h¢&

2)	 Write the general rules of diagrams method.
	 {MÌ g§aMZm Ho$ gm‘mÝ¶ {Z¶‘ {b{I¶o&

3)	 Write functions of Statistics.
	 gm§p»¶H$s Ho$ H$m¶© {b{I¶o&

4)	 Calculate median of the following table.
	 {ZåZ gmaUr go ‘Ü¶H$m kmV H$s{OE&

Marks
(àmßVm§H$)

1-5 6-10 11-15 16-20 21-25 26-30 31-35 36-40 41-45

Frequency 
(g§»¶m)

7 10 16 32 24 18 10 5 1

5)	 Distinguish between regression and correlation.
	 ghg§~§Y Ed§ àVrnJ‘Z ‘| A§Va ñnîQ> H$s{OE&

6)	 Write a short note on skewness.
	 {df‘Vm na EH$ bKw {Q>ßnUr H$s{OE&

7)	 Prove that
	 {gÕ H$s{OE&
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8)	 What do you understand by Chi Square Test?
	 H$mB dJ© narjU H$s dJ© narjU go Amn ³¶m g‘PVo h¡?

9)	 Calculate regression coeffieient X on Y of the following data.
	 {ZåZ AmH$‹S>m| H$s ghm¶Vm go X H$m Y na àVrnJ‘Z JwUm§H$ H$s JUZm 

H$s{OE&
X 10 12 14 16 18 20
Y 5 8 21 24 18 15

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Section 'C' contains four long answer type questions. Examinees 
will have to answer any 02 questions. Each question is of 14 
marks. Examinees have to delimit each answer in maximum 
500 words.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	IÊS> "g' ‘| Mma {Z~ÝYmË‘H$ àý h¢& narjm{W©¶m| H$mo {H$Ýht ^r 02 
àým| Ho$ Odm~ XoZm h¢& àË¶oH$ àý 14 A§H$m| H$m h¡& narjm{W©¶m| H$mo 
A{YH$V‘ 500 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V H$aZo h¢& 

10)	 Explain various methods of data collection.			      14
	 g‘§H$m| Ho$ g§H$bZ H$s {d{^ÝZ ar{V¶m| H$m dU©Z H$s{OE&

11)	 Find out the standard deviation and it's coefficient of the  
following series.							         14

	 {ZåZ loUr H$m à‘mn {dMbZ Am¡a CgH$m JwUm§H$ kmV H$s{OE&

Size (AmH$ma) 10 12 14 16 18 20 22 24

Frequency (Amd¥{Îm) 5 8 21 24 16 15 7 2
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12)	 What is index number? What are the problems in the construction  
of index numbers? Write the importance of Index number.         2+7+5

	 gyMH$m§H$ {H$go H$hVo h¢? BZH$s g§aMZm nyd© H$m¡Z-gr g‘ñ¶mAm| 
na {deof Ü¶mZ XoZm Amdí¶H$ h¡& gyMH$m§H$ H$m ‘hÎd {b{IE&

13)	 Solve the following:						       7+7
	 {ZåZ H$mo hb H$s{OE&
	 (i)	 Prove that
		  {gÕ H$s{OE&
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	 (ii)	 Solve the equation from Cremer Rule
		  {ZåZ g‘rH$aU H$mo H«o$‘a {Z¶‘ go hb H$s{OE&

		
7 0
10 2 8
x y z
x y z

x y z2 3 1

- - =
- + =
- - =


